(a) CONTROL (gijl UMyn 8.4 GA4.0) (b) DOUBLE BB & SOA (anmazd UMvn 8.4 GA4.0)
(mg m™) OC (mgm D

Mean value = 1.225 Mean value = 1.954

0.1 1 10 100 0.1 1 10 100

(a) CONTROL 81ij| UMyn 8.4 GA4.0) (b) DOUBLE BB & SOA (anmad-UMvn 8.4 GA4.0)
mg m™) SuU (mg m™)

Mean value = 5.668 Mean value = 5.651

0.1 1 10 100 0.1 1 10 100

(a) CONTROL gjkzi UMyn 8.4 GA4.0) (b) DOUBLE BB & SOA (anmad-UMvn 8.4 GA4.0)
S5’ (mg m?) SS(mgm)

Mean value = 26.07 Mean value = 25.69
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(a) CONTROL (ﬁ jkzi UMvg 8.4 GA4.0) (b) DOUBLE BB & SOA ianmad2 UMvn 8.4 GA4.0)
s(mgm aitiINs

aitl mg m D

Mean value = 0.316 Mean value = 0.587

0.01 0.1 1 10 0.01 0.1 1 10

(a) CONTROL (a; é jkzi UMVE] 8.4 GA4.0) (b) DOUBLE BB & SOA ((anmaq UMvn 8.4 GA4.0)
aitSol (mg m aitSol (mg m D

Mean value = 1.996 Mean value = 2.103
(L "N 2 e (L "N 2 e
0.1 1 10 100 0.1 1 10 100

(a) CONTROL (a, ijI UMvr} 8.4 GA4.0) (b) DOUBLE BB & SOA (anmad UMvn 8.4 GA4.0)
accSol mg m accSol (mg m?) D

Mean value = 4.812 Mean value = 5.195

0.1 1 10 100 0.1 1 10 100



(a) CONTROL (Iajk2| UMvn § 4 GA4.0) (b) DOUBLE BB & SOA (anmad- L{Mvn 8.4 GA4.0)
AitSol SU (mg m

AitSol_SU (mg m D

Mean value = 1.524 Mean value = 1.464
(L "N 2 e (L "N 2 e
0.1 1 10 100 0.1 1 10 100

(a) CONTROL (ajk2| UMvn 8,4 GA4.0) (b) DOUBLE BB & SOA1(anmad U;\/Ivn 8.4 GA4.0)
AccSol_TC (mg m?) AccSol_TC (mgm D

Mean value = 0.599 Mean value = 0.941
(L "N 2 e (L "N 2 e
0.1 1 10 100 0.1 1 10 100

(a) CONTROL (ajk2| UMvn 8,4 GA4.0) (b) DOUBLE BB & SOAéanmad van 8.4 GA4.0)
A cSol SU (mg m?) ccSo U (mgm D

Mean value = 4.011 Mean value = 4.058

0.1 1 10 100 0.1 1 10 100



(a) CONTROL (aJk2| UMvn 8,4 GA4.0) (b) DOUBLE BB & SOAéanmad Ug/lvn 8.4 GA4.0)
CoaSo SU (mg m ) oaSoI U(mgm D

Mean value = 0.093 Mean value = 0.090

0.1 1 10 100 0.1 1 10 100

(a) CONTROL (aJk2| UMvn 8.4 GA4.0) (b) DOUBLE BB & SOA(ganmad Ulylvn 8.4 GA4.0)
CoaSo OC (mg m®) oaSoI C(mgm D

Mean value = 0.003 Mean value = 0.006

0.1 1 10 100 0.1 1 10 100

(a) CONTROL (ajk2| UMvn 8,4 GA4.0) (b) DOUBLE BB & SOAéanmad Ug/lvn 8.4 GA4.0)
CoaSol_SS (mg m?) oaSo S (mgm

Mean value = 25.87 Mean value = 25.49
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